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��
�����%
���%���
�,�
-%������ 30 ��.�.  

������������ ��.�.2557-
��.�. 2557  

��.�.2556-
��.�. 2556 

�9������9�� % 
�9������9�� 

���;%$�����!����������� 770.86 833.24 -62.38 -7.5% 

���;%���� 9.19 8.08 1.11 13.7% 

�������� 780.05 841.32 -61.27 -7.3% 

6��-�!����������� 688.53 729.64 -41.11 -5.6% 

��G?$��G����!�� 18.12 17.32 0.80 4.6% 

��G?$��G�������
��  24.17 29.22 -5.05 -17.3% 

���������� 730.82 776.18 -45.36 -5.8% 

������������ !"����#$%&�'!�()��� 49.23 65.14 -15.91 -24.4% 

��G?$������������ -4.13 -4.94 0.81 -16.4% 


��������;�$���������-�G����<����� 0.12 0.32 -0.20 -62.5% 

H�<�����;%��6��-��� -9.11 -9.40 0.29 -3.1% 

�����+,-.)� /��+�/�+��0�1 (�� 36.11 51.12 -15.01 -29.4% 

��������;�!��34��
��;%�
�����;��������$
����-�!�����<����� -4.07 -8.53 4.46 -52.3% 

�����+,-.)+��-!2�3�5�(6789�0,� �)'1-�0: 32.04 42.59 -10.55 -24.8% 

 
 
1.  6$��������)�(�� 
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�%���9$$-���
���9������������?���%������!��9���
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6-
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���M�,�$��
6��9����:���?���6���� ���3��6�������G?;NN��������6������%��$��6��%��,�G����6��9����: 9��������
H����:�<@��$����;9���?���6�� �������;������!��
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���$����,���<��������<��������;%����4
��������;�!��34��
��;%�
�����;��������$����-�!�����<�����
�9����$��$����� 4.07 ������ =%��%�� 4.46 ������$����%�%������!��9���
����,���,�9�3�6�
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�
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      1.1 �����  
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��
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���%��� 
�,�
-%������ 30 ��2-���� 2557 ���<��������<����������;%$�����!�����������
$����� 770.86 ������ �9��������������%�%������!��9�����������;%$�����!�����������$����� 833.24 
������ �%��G���6������� 7.5 ��,���,��%!������%�����%$���,��
���!��=%����!��
������-�
�6���
����%
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 1.2 ������92�  
 

���;%���� ;%�� ���;%$��%�����,���� ���;�$�����!�����7�
�� ���;%$�����!���:<�
�>� 
��
���
��%
���%���
�,�
-%������ 30 ��2-���� 2557 $����� 9.19 ������ ��%�9���6���7���!Q,������ 13.7 $����%
�%������!��9 =%����;%�������
����I ��� ���;%$�����!���:<�
�>� MQ���������$�����������<��������<��������
��62-%��9���H��3��
6���
��%��>�?��%��� �3� ����2� ��3������������9��496��L 6�����
���!���4��� 
�?� ���6�%6���������� ��� 6������4������
�% ������:<����
���$������9��49%������ =%����<��������<��
�������:<����
���%������;9$��
��� �������Q���I?��9����;%���� 

 
 

 1.3 ;�-,�5��  
 
6��-�!��
��G
I!�����<��������<�������$��6��-�
����9���H�
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� ?��%��� �3� ������7�� MQ��������<��������<�����;%$�%
���,�
����>$�497���
$��
��� �����62-%���7���������9��49�9�
����9���H�6��L�7���$��
��� =%�G���%
���%���
�,�
-%������ 30 
��2-���� 2557 ���<��������<�������6��-�!��$����� 688.53 ������ 
�����%�9�
�%
������� 88.27 !��
���;%��� �9�����������%
���%���
�,�
-%������ 30 ��2-���� 2555 �����6��-�!��$����� 729.64 ������ 
�����%
�9�
�%
������� 86.73 !�����;%��� ���<��������<�������6��-�!������7���!Q,�G���6������� 1.54 �����
�9��������������%�%������!��9��� =%���
��
6-
���$��!��%���3��6����%��=%��9���������
��������$��
9����.!������%��  

 
 

1.4 ������������5�� 
 
��G?$��G����!��������
�����
����I9�����%����G?$��7������!�� ��!�
� ��G?$��G����


��
������!�� =%���%
���%��� 
�,�
-%������ 30 ��2-���� 2557 ���<��������<���������G?$��G����!�� 
$����� 18.12 ������ �9��������������%�%������!��9����������G?$��G����!��$����� 17.32 ������ 
�7���!Q,� 0.80 ������
�����%�9���6���7���!Q,������ 4.6 
��
6-
����I��������$����G?$��G����!��G�?������
�%������!��9���
�� ���<��������
�Q������Q�����������
��,
�
��$�
4I����������Q�;�������$��
����2
6�%6��
��,$���4�
��,���?�������
�Q��$����� 1.02 ������  
 
 

1.5 ������������ �)0�� 
 

               ��G?$��G�������
�����
����I9�����%����G?$��34���
�� ��� ��G?$��7�������3��6��L
����
���$��"��!�� ���?�
�������� ��� ��G?$��G�������
��$�%���6��L =%���%
���%��� 
�,�
-%������ 30 
��2-���� 2557 ���<��������<���������G?$��G�������
�� $����� 24.17 ������ �9��������������%�%������
!��9����������G?$��G�������
��$����� 29.22 ������ 
�����%�9���6���%������� 17.3 ��,���,������$��G�
��%
���%������!��9���
�����<��������<�����;%����Q�!�%�-�$����6������9�����$��
2�����.3��3��
!�����������MQ���9�����$�����!>�����
4������6��!�����������������%��>� G�!.����;������!�%�-�$��
��6������9�����G�99$�$$-��� 

 
           ��,���,��G?$�����
����IG�������
���9���G?$��%���-���6��9�6�9��$��9!���$�
������3��6��L 

��� ��G?$������LG�%��������
�� ��%�9�
�%
����G?$��G�������
��6����;%���
��
�����%9��$��9 
�,�
-%
������ 30 ��2-���� 2557 ����������� 3.10 �%���9��������������%�%������!��9������
�%
����G?$��G����
���
��6����;%��� ��%�9�
�%
������� 3.47 

 
 

1.6     +��# (���������()�$(-,��� �)'1-��� 
 

G��%��� ��<��� 2552 ���<��;%���-�G�
-�
���I!�����<�� =���� =�
���$ (9����:;��) $����%MQ����

������9�34G
������%�����6��%������!�������<��������<�����6��%$�2Q����<��34������-� =%�������
���-�G�
-�
���IG�
�%
������� 49  ���G���%
���%��� 
�,�
-%������ 30 ��2-���� 2557 ���<������4
�����
���;�G�������������6������
��;%�
��$����� 0.12 ������ �%��$����� 0.20 ������
����%������� 62.5 
������9������������?���%������!��9���
�� 
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 1.7 ����� (5��-,�) ������� !"����#$%&�'!�()��� #$%����� (5��-,�) +,-.) 

 
G���%
���%��� 
�,�
-%������ 30 ��2-���� 2557 ���<��������<�������3����;�$�����%������������

%�����,�$�����H�<�����;%$����� 49.23 �����������
��6��-�����������$����� 4.13 ������ ���H�<�����;%
$����� 9.11 ������ ��� ���
��������;�$���������-�G����<�����$����� 0.12 ������ 
�3�G
���<�����
���<�������3����;�
-�����>%�
�>$
��
�����% 36.11 ������ �%��������9��������������%�%������!��9��������
���;����%�����,�$�����H�<�����;%$����� 65.14 ������ ��������;�
-�����>%�
�>$ 51.12 ������ =%����;�
���%�����,�$�����H�<�����;% ���;�
-�����>%�
�>$
��
�����%9���6���%������� 24.4 ��� 29.4 6�����%��  
 
              ����;��>6�� 
��
�����%
���%���9$$-��� ���<����
��������;�
��
���34��
��;%�
�����;��������$
����-�!�����<�����$����� 4.07 ������=%��%��$��$����� 8.53 ������$����%�%���!��9��� 
�3�G

���<�������;�
-���G�
��!��342��
-����<��G
I
��
�����%
���%���
�,�
-%������ 30 ��2-���� 2557 $����� 32.04 
������ =%��%��$��$����� 42.59 ������G���%�%���!��9��� 
 

 
1.8 &�'!�()����);) ,��$ 

 
                 G���%9��$��9
�,�
-%������ 30 ��2-���� 2557 ���<��������<����� ��H�<�����;%$��3����;�$�����
%���������$����� 9.11 ������ 
�����%�9���6���%������� 3.1 �%��������9������������9���
��MQ����H�<�
����;%��6��-���$����� 9.40 ������ ��,���,��
��
6-
���������$�����;�$�����%�������������%�� �������<�����
���343��6��G��-6
�
���������6MQ��;%������
��
���������-�;%������
�%����������������H�<�����;%
��6��-������6�,��6�%�����2-���� 2556 G�9���
�� ��� G���%
���%���9$$-������<�����%������;%���������4
H���H�<�����;%��6��-����6>�$�����  
 

 
1.9 +��# (�����5�(67�!+�����+!�-!2���!�������� �,�5�( �)'1-��� 

 
����������� 1 6-���� 2553 ���<��G
I�����!���������-����<�����G
��7�����6��-���$$��I��9-� 

Mory Industrial Inc, $Q����������4
��������;�!��342��
-�
�����G����<�����$��3����;�
-���G����<�����
6��
�%
�����2��
-� 
��
�����%
���%���
�,�
-% . ������ 30 ��2-���� 2557 
��������;�
��
���34��
��;%�
�����
;��������$G����<����� �9�$��������� 4.07 ������=%��%��$��$��������� 8.53 ������G���%�%������!��
9���
�� 
 
 
 1.10  ����+����8�����-������� 
 

���<��������<���������6�����;�!�,�6�
��
�����%
���%���
�,�
-%������ 30 ��2-���� 2557 ���������
�� 10.68 �%��=%��9��������������%�%������!��9����������6�����;�!�,�6������ 12.43 
��
6-
��������6��
���;�!�,�6��%����,��9�3�$����%!�������%3��6����%��!����;��
���2$��������6 �����;��
���2��6��
����
����2G����������;����
4����
����9���H�����L 
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��� : ������) 
  

 
 
 

 
 

( ����()���� 
> �1�-!2 30 �)8,���� 

2557 
> �1�-!2 31 �!���� 

2557  
    �������()� % �������()� % 
+)�-�1?�     
+)�-�1?�0�,���!��     
  ����
%���������������������
% 76.15 3.27%  63.94 2.78%  
 �������-�?������� 5.00  0.21%  5.00  0.22% 
  �4�
��,���������4�
��,����  722.17  31.04%  758.19  33.00% 
  
�������
��� - 
-���  859.47  36.95%  831.65  36.20% 
  
�����7�
�-����������  8.05  0.35%  7.64  0.34% 
  ���+)�-�1?�0�,���!��   1,670.84  71.82%  1,666.42  72.54% 
+)�-�1?���0�,���!��     
 �������-�G����<�����  7.57  0.33%  7.44  0.32% 
 �������-�������� 3.11  0.13%  3.01  0.13% 
  ���%�� ���������-9��. – 
-��� 572.70  24.62%   549.01  23.90% 
  
�����7�;���6��6� – 
-���  0.31  0.01%  0.35  0.02% 
  ����"��
2�����������MQ����!�$����%G����G?  46.00  1.98%  46.00  2.00% 
 
�����7�H�<�����;%�����6�%��I?�  22.39  0.96%  21.80  0.95% 
  
�����7�;�
�-����������  3.41  0.15%  3.34  0.14% 
         ���+)�-�1?���0�,���!��  655.49  28.18%  630.95  27.46% 
���+)�-�1?�  2,326.33 100.00%  2,297.37 100.00% 
0�!"+)�#$%+��5�(6789�0,�     
0�!"+)�0�,���!��     
  ��������������I?���������4�������
�,�$��
2�����������  261.28  11.23%  273.37 11.90%  
  �$�
��,���������$�
��,����  516.01  22.18%  499.23  21.73% 

  
�$�
��,6��
�II��?��������������2Q����
�%?����H��G�

�Q��9  5.62  0.24%  7.59  0.33% 

  H�<�����;%��6��-������$��  26.45  1.14%  17.00  0.74% 
  
��,
��
�-����������  6.97  0.30%  12.76  0.56% 
   ���0�!"+)�0�,���!��  816.33  35.09%  809.95  35.26% 
0�!"+)���0�,���!��     
 �$�
��,6��
�II��?�����������  6.63  0.28%  7.52  0.32% 
  
�����3�9��=�?��������!��7������  28.27  1.22%  27.96  1.22% 
        ���0�!"+)���0�,���!��   34.90  1.50%  35.48  1.54% 
���0�!"+)�  851.23  36.59%  845.43  36.80% 
+��5�(6789�0,�     

�-������
-� 
  �-�$%������� 383.00  383.00  
  �-���������������?������� 383.00 16.46% 383.00 16.67% 
     
�������4���
-� 519.67 22.34% 519.67 22.62% 
  ���;�
�
�     
  $�%
�����-
�����6���b
���  48.49  2.09%  48.49  2.11% 
     
��!��342��
-����<��  351.07  15.09%  318.93  13.88% 

  
    
��!��34��
��;%�
�����;��������$����-�!�����<�� 
    ���  172.87  7.43%  181.85  7.92% 

���+��5�(6789�0,�  1,475.10  63.41%  1,451.94  63.20% 
���0�!"+)�#$%+��5�(6789�0,�  2,326.33 100.00%  2,297.37 100.00% 
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2. B��%-�(����()� 
 
2.1  +)�-�1?� 

 
 
��
����4������7�
��
�,�
-% . ������ 30 ��2-���� ��� 31 ������ 2557 ���<��������<�������

�����7����$����� 2,326.33 ������ ��� 2,297.37 ������ 6�����%�� ���7�
���7���!Q,�$����� 28.96 ���
��� =%��4�
��,������%���6
�������
����7���!Q,� ���<��������<�����%�������-���$
���%������9��49
�6���

������������$�MQ��9�����%�����$�%
� �9��49 3��6 ���$��
���3��6H�.c
�6���
 ��� ���<��������
G
��9�34$��
���=�
�����=�
� %����,� 
�����7����
����I
��G
I$���4G��49
�������
��� �4�
��,����� ���
���%�� ����� ����-9��. =%������������%%����, 
 
 2.1.1  
�������
��� . ������ 30 ��2-���� ��� 31 ������ 2557 ���<��������<�������
����
���
���-
-��� $����� 859.47 ������ (
�%
������� 36.95 !��
�����7����) ���$����� 831.65 ������ 
(
�%
������� 36.20 !��
�����7����) 
�������
�������7���!Q,���$������6��%!����62-%��?��%6��L����7���!Q,�
G���%
���M� ���
-%G����9$$-���������9������������ . �������%������!��9���
�� 
 
 2.1.2 �4�
��,���������4�
��,���� . ������ 30 ��2-���� 2557 ��� 31 ������ 2557 ���<��������<��
������4�
��,���������4�
��,���� $����� 722.17 ������ (
�%
������� 31.04 !��
�����7����) ���$����� 
758.19 ������ (
�%
������� 33.00 !��
�����7����) 6�����%�� ��,���,�4�
��,����%�����$����%!������%��
G���%
���%�����
-%$�����?���6��!����%!��6��
H���?���6��!���4���G��-6
�
����
���=%��R7��
�-6
�
���������6 
 
              2.1.3   ���%�� ����� ����-9��. ;%�� ���%�����
��9���9�-����%�� ��������
���6�%6�,� �������$��� 
����-9��. �������6��6�����-9��.
�������� ���7�
�� ��������
�����
��� =%� . ������ 30 ��2-���� 
��� 31 ������ 2557 ���<��������<����������%�� ����� ����-9��. - 
-��� $����� 572.70 ������ (
�%
��
����� 24.62 !��
�����7����) ���$����� 549.01 ������ (
�%
������� 23.90 !��
�����7����) 
6�����%�� ��,���,�4�������7���!Q,�
��G
I��$��������-�6�������!�������
��������=�����G
� M�,��������$���
G
�������9���9�-��-9��.
��9�����=������7���
���
�-����3��6 
 
             2.1.4   ����"��
2�����������MQ����!�$����%G����G? . ������ 30 ��2-���� ��� 31 ������ 2557 $����� 
46.00 ������ (
�%
������� 1.98 ��� ����� 2.00 !��
�����7����6�����%��) 
��G
I�9�����"��G�

2�����������!�����<��������G
��7����9�
���9�����
��
����������4$��
2����������� 
 
             2.1.5   ���7�
��H�<�����;%�����6�%��I?� . ������ 30 ��2-���� ��� 31 ������ 2557 $����� 22.39 
������ ��� $����� 21.80 ������ (
�%
������� 0.96 ��� ����� 0.95 !��
�����7����6�����%��)  
 
  

2.2 0�!"+)� 
  
 
��,
�����!�����<��������<����� . ������ 30 ��2-���� ��� 31 ������ 2557 ��$����� 851.23 ���
��� ��� 845.43 ������ 6�����%�� =%�������7���!Q,�!��
��,
�����
����I ;%�� �$�
��,����� !.���������4���
����
�,�$��
2������������%�� 
 

 
2.3  +��5�(6789�0,� 

 
 . ������ 30 ��2-���� 2557 
��!��342��
-�$��������������$����� 1,475.10 ������ �7���!Q,�$��
��

!��342��
-� . ������ 31 ������ 2557 $����� 1,451.94 ������ 
��
6-
����I������$��3����;�
-�����>%�
�>$
$����� 36.21 ������ �����
��!��342��
-�
�����$����� 172.86 ������$�����
�����;�����4���
-��-�
!��342��
-�
�����G����<�����  
 
         %��
�%
��
��,
��6�
��!��342��
-� . ������ 30 ��2-���� ��� 31 ������ 2557 ������ 0.58 ��� ��� 

0.58 ��� 6�����%�� 
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(
��� : ������) 
 

���$%��!�� > 30 �).�. 2557 > 30 �).�. 2556 

����
����
%
-���$�� (G?;9G�) ��$����%��������� 62.30 100.96 
����
����
%
-���G?;9G���$�������-� -22.15 38.24 
����
����
%
-���$�� (G?;9G�) ��$����$�%
����� -27.97 -163.30 
3������$������9������9��!����6������9����������6�
����
%���������������������
% 0.04 0.05 
����
����
%
-����7���!Q,� (�%��) 
-��� 12.22 -24.05 

 
 
 

3. ��%#+�()�+� 
 
��%
���%������
�,�
-% . ������ 30 ��2-���� 2557 ���<��������<�����������
����
%
-���;%��$��

��$����%��������� 62.30 ������ =%��9�����
����
%����7���!Q,�$��3�9��������$����� 68.38 ������ 
�7���!Q,�$������9������9��!�������-�
�-������
-��� $����� -6.08 ������ ��,���,�����-�
�-������=%����
�9������9���7�����>���� ���$����,G�
������
����
%$����$�������-�
-����%��$����� -22.15 ������ 
G�!.���������$�����-�
-���$����� -22.43 ������ =%��9������
��������=�����G
����6�������$��9���

�� ������9���9�-��-9��.
��9�����6��L!��=������7���
���
�-����3��6 G�
��!����$����$�%
�������
��%$�%
�
-��� -27.97 ������=%�
��G
I�9����?������������4����
�,�$��
2����������� =%�������<�����
���<�����������
����
%
-����7���!Q,�G���%
���%���$����� 12.21 ������ 

 
 
$Q���������7������� 
 

 
      
 !��
%��������2�� 
 
 
 
 
 
 
 (�������6  ���
?���H�
����d) 
 ����������34$�%���    
   
 


